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Why Did the Cow Keep jumping Over the Barrel?

Translate each phrase below into an algebraic expression and find your answer in the corresponding answer column.
Write the letter of that exercise in the box that contains the number of the answer.

@ 5 times a number, increased by 8 @ 8(x + 5)
times a numbe 18) x+3
@ llmgsa pymoer O @ 5 times the sum of a number and 8 @ 8(2x + 5)
@ 3 more than a number @ 3x -8 @ _
5 more than 8 times a number @ 8x +5
b X —
@ G L @ 8 times the sum of a number and 5 @ 2(5x + 8)
® 3 less than a number @ 3x +8 , _
twice the sum of 5 times a number @ 5x + 8
@ one third of a number @ 3x and 8 5(x + 8)
@ 8 more than 3 times a number @ 3—x 2 more than five eighths of a
number @ éx +2
@ 8 less than 3 times a number @ L 8 times the sum of twice a number 8
3 and 5
@ 2 lges, Bvard Bies. o nambsen @ 7 — 4x @ 9 meters higher than altitude x @ X+ 15
@ 7 decreased by 4 times a number 2x—9 ;Serggt;ars per=ocond Sowar fhian x+9
. 4 — 9
@ 9 less than twice a number ‘ x+4 ® 15°C hotter than temperature x
. - 2x —9
@ 9 decreased by twice a number @ ax -7 @ 9 meters shorter than twice length x
2x + 9
@ 9 less than half a number ‘ 7x + 4x @ 9 years older than twice age x @
: , = x—15
%)) 7 times a number, increased by 4 ‘ 9—2x @ $9 cheaper than 4 times price x
7 times a number, increased by 4 X : 3y
: ’ -9 9 centimeters less than three @ 24X 9
times the number @ 2 fourths of length x
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& What Did Bonzo Say When He Saw the Ivy-covered Walls
of the Ivy League College?
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TO FIND THE WORDS OF BONZO: Solve each equation below and find your solution in the rectangle above.
Shade in the area containing that solution. :

2 (1) 3x+9=5 | (7) 4=7+x+6x @9 5-6=-8

RO

= 0 3 _ — 12 —3t=

i (2 8z-1=11 (® -3ym+3=8 (14) 2t—12-3t=60
39,1

=2 lt+6= | _5 9p=
25 (O gt+e=-7 (9 -18=3r+12 (D 6+3n=24
iz @12-Ju=2 {0 10+v—17v=4 ~30=q-10+11q
S
35
832 2 _ i X _
H (® zn+6=10 @1 40=5y-8 @ s-§=-2
53
S = = 3 o —
5§ (©-7-6y=13 —5x+2=0 —20y +20 = ~20
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Infinite Algebra 1
One-Step Equations

Solve each equation.

1) 26=8+v

3) 15+b=23
5) m+4=-12
7 m—9=-13
9) v—-15=-27
11) —104 = 8x
13) P

18

Name

Date

2) 3+p=8

4) -15+n=-9

6) x—7=13

8 p—b=—5

10) n+16=9

12) 14b=-56

14) 10n =40

Period



18) 2 16) 16 =
8 11

17) —=15x=0 18) —17x=-204
19) 21 =-7n 20) ﬂ=—13

4
21) =126 = 14k 22) -143=-11x

23) 16+ x =15
) . My B
18

25) —17=x-15 26) n—8=-10

28) a+11=20

27) ~ =8
7

29) -7 +m=8 30) 18 +m=8



